#2sEl WEs 77—y —HFAKRS

I I T RNAT—Y (FN—TF AT —PUL b —F A |)

[J]
55

52

[~k h—F A ]

[K]
56

53

[L]
57

54

AThZ G1{iz KA

B1AL H1AL Bz

C1{z (AE(vA D1z

[1~3friedE h—TF % > 1]

B

58

[4~6friE h—TF % 1]

L

59

[7~offridE h—T % > 1]

B

60

(] 1z (K] 17| [L] 1z

[3] 20z [K] 2fi7] [L] 2fif

[3] 3 [K] 3fz| [L] 3f%

DI T RNARTF—Y (IN—TRATF—3Lh—F X b)

[P]
79

76

[~k h—F A ]

(Ql
80

77

[R]
81

78

A3fiz G3fiz F3fz

B3fr H3{Z E3{iL

C3(iz 137 D34z

[19~21f7ikjE h—F 2 > 1]

B —

82

[22~24frikjE b —F A > 1]

—

83

[25~27frikjE b —F A > K]

B

84

[P] 147 [Q] 1fiz| [R] 1fiz

[P] 2 [Q] 2fiz| [R] 2fiz

[P] 3fi [Q] 3fiz| [R] 3fiz

2022FENERE

f—=FRA R (VoI T RRAT—)

JYITINRT—L (FN—TFRTF—=L26h—F A K)

(M]
67

64

[~ b—F A 1]

[N]
68

65

(0]
69

66

A2z G241 F24z

B2fiz H24z E241

C2{ir VZiva D2fz

[10~12frtkiE h—F A > 1]

B —

70

[13~15{7ik7E h—F A }]

B

Al

[16~18{\7ik7E h—F A }]

47|5_‘

72

[M] 147 [N] 1z} [O] 1fiz

(M] 2]

[N] 2fiz] [O] 2fi]

(M] 3] [N] 3fiz] [O] 3fi]

) IT Y RNAT =Y (IN—T AT =AML b —F A })

[28~33fikiE h—F A > 1]

90

92

.

91

D4z H4{Z.

GAfiL FafL

1443 E4(T.

94

E25EMUESI ST 1— Y Y H—FARR
JYVITIRRT—2



